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Note : (i) All gquestions are compulsory.
(i) Answer Q. Nos. 1 to 10 in about 30 words each.
(i) Answer each question from Q. Nos. 11 to 18 in about 50
words.
(iv) Answer each question from Q. Nos. 19 to 24 in about 75
words.
(v) Answer each question of Q. Nos. 25, 26 and 28 in about
120 words.
(vi) Answer each question of Q. Nos. 29 and 30 in about
150 words.
(vii) InQ.No. 27 indicate on the outline map of India as directed.
Attach map with your answer-book.
(viii) Marks allotted to each question are mentioned against
the question.

(ix) Internal options are given in Q. Nos. 17, 18, 23, 24, 27,
28, 29 and 30.

1. g T v g Somil & A Rwa € 7
State the Latitudes and Longitudes between which India is situated. 2
2. TE 9 BOF F e-8l FHAT % 99 e |

Name two crops each of that fall under Rabi and Kharif. 2
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3. Tl & WiTe wEEE % 9w fafe

Write names of the mineral resources of Energy. 2
4. w9 W AEE S=m FE-wEE £ 7

Which are animal based industries ? 2
5. AMFHFTE ! e ISR w a1 & 7

What is Trade ? Mention its types. 2
6. WA % o 7= W vl =4 o e 3w S ifos 3 e fawen 2

By whom and when the New Sea Route for India was discovered ? 2

7. 949n favayg =1 aeETeEs SR e g1 ?

What was the immediate cause of the First World War ? 2
8. fava § v afsni =51 S w9 =7 1 2

When was the Human Right declared ? 2
0, FHC A= I ?

What do you mean by Parliament ? 2

10. HEyIFa= 1 e favmand fafan

Write two characteristics of Wants ? 2
1. 3" T =nafin saml = 99 5es fafan)

Write three importances of agriculture based industries. 3
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12. 2yii 5 Toeyf =HUR © 9 =2 & 7

Distinguish between National and Foreign International Trade. 3

13, Tgad TEHE H W T G v i 7
Mention the main aims for which the United Nations Organization

was established. 3

14, FrdteE @7 AEEE ®1 79E SaEa 349 9 7

What were the main similarities of Fascism and Nazism ? 3

15, 979 & |4 =0T =61 AR 79 &30 gA & g e |

Write down the names of three National Parties and three Regional

Parties of India. 3
16. &/ 941 &% 727 1 9= Giwd faran |

Write in brief the composition of Lok Sabha. 3
17, 9v9-FTH 1 5 A4 T ?

What is meant by Question Hour ?

3yeraT

(On)

YT AN &1 FHA-HHY HiieF waed) &1 9o ] et ?

What fundamental duties should an Indian citizen follow 7 3
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18. =it =1 fawremr = |

Write characteristics of Capital.

EbCi
(Or)
Jfa =1 = FHveerd fEren )
Write any three characteristics of Land. 3

19. Foi Herl & i o1 Tiers 9T Firan |

Describe briefly the formation of Northern Plains. o

20. Tenea & fme =iel 597 a9 9FF i Ai54) 8§ 33 T Fa0
Distinguish between Himalayan rivers and the Peninsular rivers of
India. : A

21. AEE F0 @1 7 SHE [S9ma e |
What was Nazism ? Write its characteristics. 4

22, &g favags & IrMieas U8 TEias U F1 T S0 |
Discuss the socio-political results of the Second World War. 4

23, THEH Ud WHEH & 3= T T 472

What were the differences between Moderates and Extremists 7

AgaT
(On)
oY o291 & 4% ArgE F ereg-9agy & ?
What was the event that compelled Japan for surrender ? 4
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24, FATIHEIFT F THEE TwiEn |
What are the problems of Minorities ?
T
(On)
FATHAS & TS0 Tel & Heed 1 Ioorg HT |
What is the importance of Political Parties in Democracy ?
25. WE3eeita 7 At uiEee % At oy fefa )

Describe the various advantages derived from multi-purpose river

valley projects.
26. v e &1 998 =it % o =a0 =5 g S s 7

5

Why is the atomic power considered as a danger to the human

races 7
27. WA % o8 T3 HiurER grtes | Fretafen 5 s
() =Fosen
(i) == =72
(iii) 79=1 ==
(iv) “AoaaEt 999
(V) 91 =1 9559 |
Show the following on the given outline map of India :
(i) Kandla
(i) Bombay High
(i) Narmada River
(iv) Aravalli Mountains
(v) Thar Desert.
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i 7))
T9ET
(Or)
a5 T TiaeR gEtEs § eEianga s S

(i) "a-—E?ET
(ii) feeei
(iii) 2121 AT =1 98R
(iv) STeReTETs
(V) WRErsT AiTe 319 )
Show the following on the given outline map of India :
(i) Tropic of Cancer
(i) Delhi
(iii) Chota Nagpur ,Plateau
(iv) Ahmedabad
(v) Bhakra Nagal Dam. 5
28, TEEF AF W1 = M T FE SIS0 |
Give the reasons for slow progress in National Income.
AT
(Or)
qIE 1 A=Y 379 F] 9@ H FH-SHE 70 TeEE od @ 7
What factors do help in increasing National Income of India ? 5

29, TEEEr T YadS S41 ° =1 F4E4 |

Differentiate between the Evergreen and Deciduous forests.
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HgaT
(Or)
A1 4 oy AE |
Write the advantages of Forests. 6

30. THE BIE ATereE T SOEe % 59 TR b 7
What were the causes for the failure of Quit India Movement ?
AIET
(Or)
1957 vares % YHR el S REE FHE 9 3 9HE 93]
Write the effects of the Reforms Movements of 19th Century on
the Indian Society. : 6
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Note : (i)

(vi)

(vii)

(viii)

(ix)

(2 )

All guestions are compulsory.

Answer Q. No. 1 to 10 .in about 30 words each.

Answer each question from Q. Nos. 11 to 18 in about 50
words.

Answer each question from Q. Nos. 19 to 24 in about 75
words.

Answer each question of Q. Nos. 25, 26 and 28 in about
120 words.

Answer each guestion of Q. Nos. 29 and 30 in about
150 words.

In Q. No. 27 indicate on the cutline map of India as directed.
Attach map with your answer-book.

Marks allotted to each question are mentioned against
the question.

Internal options are given in Q. Nos. 17, 18, 23, 24, 25,
27, 28, 29 and 30.

1. 9Na™ 39EERN § FH-9E9 =57 7

Which countries constitute the Indian subcontinent 7

b S

2. I (922 FI BT (99Han @t |

Write two characteristics of Black Soil.
3. IR % w9 e |

Write the advantages of Hydro-electricity.
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4. TS T AEEE 7
What is the meaning of Industrialization ? 2
What do you mean by International Trade ? 2

6. @ fEawm= = =12 S e feian

Write any two principles of Swami Vivekanand. 2
7. 1914 % gy T 95 =1 9OH (ovegs = 5w e e ?

Why is the war of 1914 called as the First World War ? 2

8. HFE AHFER F1 foyaaard 5 w1 T35 TS oFl %4 =EE fFa Ty 2
When was the declaration of human right accepted by the UN.O.? 2

9., yH-faumm a1 & 2

What is meant by Secularism ? 2
10. =1 =1 =12 g favmand fafan
Write any two characteristics of Labour, 2

= L T T S v e s s

Write about three major agro-based industries in India. 3
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12. =7 = 297 & =19 50130 {98 9 & 40 1 50 wievE e e = &
Write the names of four countries to whom India export 50% of its
total export. 3

13. 957 =1 I F 67 =1 2971 24 396 731 7
How did the treaty of Versailles inflict harm to Germany ? 3

14, 7773 TSZEA FT T F B FE 7

What are the aims for the astablishment of UN.O. ? 3

15 wwarE Hi=aE | afy=a | va & 294 29 § 1 =I5 S090

Unity in Diversity is seen in the Indian Constitution. Explain. 3
16. = =mam & % fafan

Describe the functions of the Election Commission. 3
17. = 977 AW 758 991 § di9 {5l § o= T S0 |

Write the differences between Lok Sabha and Rajya Sabha (any

three points).

Hgdr
(On)
aa g F FE @ i e
Write any three functions of Opposition. 3%
18. FEvAEA wrife 2 £ T '

Wants are unlimited. Explain.
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o

g
(On

Tt FAM F A9E 75 57 T FE TR geied w7

What is the effect of double coincidence in Barter System ? 3
19. T §qed &1 398 EE § 51 7 989ET 2 7

Why are forests necessary for preservation of ecological

balance ? -
20. ¥ TATS F] GVAE U F #4292

What is the contribution of Arya Samaj for the Indian Society 7 4
21. Y0 H T99R & FH-374 999 7 7 597 Ush 9157 i1 909 Hi90 |

What are the irrigation sources in India ? Describe any one. 4

22. TRIHERE T4 ATSARE F1 §EA TAEA 57 47 7
What were the main similarities of Fascist and Nazism ? 4
23. W H=E aFHe @i 4 R T ArEEd w1 e (F9 5evd 9 H 97 7
What was the aim of Sir Sayyid Ahmed Khan in establishing the
Scientific Saociety ?
Hgar
(On
AHE® TS THEH & Sid 91 H5= 97

What were the differences between Moderates and Extremists 7 4
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24, AT & 9W U=E 5al 3K 9W 4519 &5 = 719 THran |
Name four National and four Regional Parties of India.

Seran
(On)

FUHEAH] 1 THEN 1 € 7 s |

What are the problems of minorities ? Explain. 4
25. TEE = THgml F e |
What are the principles of Panchsheel ?
HIEm
(On)
- aEied % gen faer 7 € 2
What are the basic principles of Non-aligned Movement ? 5

26, THEEA 9 F FWU UREE Fi9 H U8l 21 Fiell IS F Seerd HIe] |
Describe the implications of growing population on Indian
Agriculture. o

27. UG & ¥ T4 WHER gFiEs § [Heeiad F 9
(i) faer

(i) == =1 =TS

(i) 7= =

M EEEERIEERE

(V) 91 =7 5oy |
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Show the following in the given outline map of India :
i) Bhilai
i) Bay of Bengal

(
(
(iii) Narmada River
(iv) Rice growing areas
(

v) Thar Desert

HUar

(On)
U & fod TG SR 9EEE | fetetad F51 29
(i) s
(ii) #remER 7=

(ifi) smz=t 7= =ty

(iv) Fr=1 Tge =g 33

(v) Fr=rE-feeet Tomr

Show the following in the given outline map of India :
(i) Bhopal

(if) Malabar Coast

(iii) Bhakra Nangal Dam

(iv) Kanha Kisile National Park

(v) Mumbai-Delhi Rail Route

o
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28. i e & #01 Sg2va & ?
What are the objectives of Economic Planning ?
areraT
(On)
What is the contribution of agriculture in Economic Development ? 5
29. HareH! T 5 HE 3 @ ASeE ® HiEw 90 F a0 |
Describe briefly the three movements launched by Mahatma Gandhi.
Hgar
(On
What harm was rendered to the Indian Textile Industries by the
British Economic Policies ? 6
30. A T " grsias 9 | faqiea (=9 T E 7 T Ueh &0 R

Divide India into Natural Regions and discuss any one of them.

Heaam
(On)
MR R A TR
“Fourests are known as the Wealth of Nation.” Explain. 6
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e - (i) =4 yyT sAFEE B

(i) v &% 19 10 7% YIS 997 F1 I o0 30 TI=i 4 i |

(i) 999 FH% 11 § 18 9F Yod% W94 = T a9 50 ¥l |
it |

(iv) 999 &91% 19 ¥ 24 7% 9% 999 & 0 49T 75 Vel |
it |

(v) U9 FHIF 25, 26 TF 28 H T3 U9 F 30 o197 120 I=] H
SiT=Tg |

(vi) W99 FEF 29 TE 30 H YUE WA W UL o 150 ViEl H

Sife |
(vil) w9 o 27 #1390 63 78 FRvngan 9ne & W-aEEE W
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Note : (i) All questions are compulsory.
(i) Answer Q. Nos. 1 to 10 in about 30 words each.
(i) Answer each question from Q. Nos. 11 to 18 in about 50
words.
(iv) Answer each question from Q. Nos. 19 to 24 in about 75
words.
(v) Answer each question of Q. Nos. 25, 26 and 28 in about
120 words.
(vi) Answer each question of Q. Nos. 29 and 30 in about
150 words.
(vii) InQ.No.27 indicate on the outline map of India as directed.
Attach the map with your answer-book.
(viii) Marks allotted to each question are mentioned against
the question.
(ix) Internal options are given in Q. Nos. 17, 18, 23, 24, 27,
28, 29 and 30.
1. Teome™ & 967 afag 99a F Faa & 7

Why are the Himalayas called the young fold mountains ?
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2. SteEd % oY fared |
Write the advantages of Hydro-electricity. 2

3. Tdl 9 W B wEel § 397 erEd (FEar) |

Write differences between Rabi and Kharif crops (any two). 2
4., FHAFE ?
What is Amul ? o

5. WRG T UYEHl 92 W fiyn < Ssvme & a9 fatag
Write name of two ports situated on the Western Coast of India. 2
6. 1857 i Hifd %4 3N Fal TH T 41 7

When and from where did the First War of Independence of 1857

begin ? g
7. 'TifeEl =t amsfee’ 69 IE F1 & A9 § 7 35E oEd i 9

Which book was called ‘The Bible of the Nazis' ? Mention the

name of author. -
8. Hda dfaum &1 wieE 0 aH s § 2

Who is known as the protector of Indian Constitution ? 2

T 9. gR-TRUEm N E ?

What is meant by Secularism ? 2
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10. II92T & Y=FH Faed |

Write down the kinds of Paper Money. 2 4
11, T =i vrdr Ad=ga=q =1 929 97 7 F8 97 5 2

Why is Agriculture called main basis of Indian Economy ? 3

Describe the characteristics of Foreign Trade of India. 3

13, I=2EE w1 =9 F 9qE 97 355y e

What were the three main aims of establishment of the League of .

Nations ? 3
14. w99 [3vagg ¥ =A@ 5491 yniga g2 ?

Why did America enter into First World War ? 3
15. AEYTE Yomi=F Saum o 597 svE © 2

What is meant by Sovereign Democratic Constitution ? 3
16. T9FT = HATYFR T T Fiid |

Explain the Right to Equality. 3

17. 774 ﬁ'm W ?%Eﬁ#‘){@ Eﬁ-lzﬁa‘:—f air-'-] %Ai-_,:!a‘ I
Describe any three main functions of Human Right Commission.
T

(Or)
| g 4 uF fatas 5 ofm 593 =1 Jishal FHSET |

Explain the procedure of passing the Money Bill in the Parliament. 3
K—4039-C1
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18.

19:

20.

21,

22.

23:

(5 )

Write three characteristics of Labour.
HEdr
(On)
Write the types of Banks. 3

Soie fHdl Ud Her 922 § =7 9954 |

Differentiate between Alluvial and Black Soils. 4
Sl & TR 99 -9 ' 5 3 et

Write differences between conventional and non-conventional
sources of Energy. 4
37T IS 1 YREE §9S # I4E 5 = A 2 2

Describe the contribution of Arya Samaj toward the upliftment of
Indian society. _ 4
f5oira Tavagg = mfas U5 TeHaE SoTH =) 9% Hitad |

Discuss the Socio-political (consequences) results of Second World
War. 4
ST % 354 4 a9ig =1 1ft s vor 3 7ems fag 2

How did the treaty of Versailles help in the rise of Nazism ?
FHar
(On)
HEITEE & f95g 3 0s s F1 95ad & T SR 9 7
What were the causes of success of British Companies against
the French ? 4
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24, FFERE UF Twhal | F15F & | ¥ Sifad |

Regionalism is an obstacle in the way of national unity. Explain.

Far
(Or)

WA F TEL F T g EE w7

What steps have been taken to improve Literacy ? 4
05, SEEN gl & HEV YGE F9 H Ta1 2 el qeeie] 1 FooiE Hirad |

Describe the implications of growing population of Indian

Agriculture. 5
26, T & g = oy |

What are the principles of Panchsheel ? 5
27. 9wA % &3 T dumen aEted ¥ FeEfetey # gwigd |

(i) T |

(if) =2

(iii) =T 7=

(iv) eTraE gea

(V) 91 1 HEEY |

Show the following on the given outline map of India :

(i) Tropic of Cancer

(i) Mumbai

(iil) Narmada River

(iv) Aravalli Mountain

(v) Thar Desert.

K—-4039-C1

M-3




(7))

Fgar
(On
9 = {24 18 Heaen aatee | fsfafas =1 svi=
(i) feoemt
(il) smEeT e =97y
(iii)) ety oea
(iv) Faifas See 9T =
(V) sTEHEE |
Show the following on the given outline map of India :
(i) Delhi '
(i) Bhakra Nangal Dam
(ifi) Nilgiri Hills
(iv) More Populous State
(v) Ahmedabad. 5
28. TR i wegia ama =7 gy e s U 319 #1899 3 T s
TerE |
Define National Income given by Fisher and write three reasons of
low national income.
Adm
(Or)
T % e famr o e = ol awe 79 fe o €1 w5
Planning was unsuccessful in the development of Indian Economy.
Explain. 5
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29, H W FoEE F1 WG F5 916 WHE FE| F GUA R |
Describe the main factors affecting the climate of India.
g
(Or)
o A F A T | HHEES |
Forests are known as the Wealth of Nation. Explain. B
30. WETE1 TH g SEE T 99 SAReA F S 90 i |
Describe in brief the three movements launched by Mahatma
Gandhi.
erdn
(Or)
What harm was rendered to the Indian Textile Industries by the
ritish Economic: Policies ? 6
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.- (i) = gva wfqed T
(i) 999 FHF 18 10 7% T% T99 51 30 o149 30 ¥ | Sy |

(i)

(iv)

(V)

(i)

(Vi)

(viii)

(ix)
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<

o9 FHS 19 ¥ 24 9F TAF Y9 FH W @O9T 75 VEm

YYq HHE 25, 26 TS 28 H YE YWY T 39K H 120 =i °
I |

Y FHE 29 US 30 H Ued$ WIA &1 I ANET 150 Vel H
il
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Note :

(i)

(vi)

(vii)

(viii)

(Ix)

All questions are compulsory.

Answer Q. No. 1 fo 10 in about 30 words each.

Answer each question from Q. Nos. 11 to 18 in about 50
words.

Answer each question from Q. Nos. 19 to 24 in about 75

words.

Answer each guestion of Q. Nos. 25, 26 and 28 in about
120 vrords.

Answer each question of Q. Nos. 29 and 30 in about
150 words.

In Q. No. 27 indicate on the outline map of India as directed.
Attach map with your answer-book.

Marks allotted to each question are mentioned against
the question.

Internal options are given in Q. Nos. 17, 18, 23, 24, 27,
28, 29 and 30.

1. Teoem & fHeow owh 9= e = 5 2

Why do the Himalayan rivers flow throughout the year ?

What are the objectives of Multipurpose Projects ?
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3. Teigm F s e aeE T 2

What do you mean by Small-scale industries ? 2
4. S AT E e AWE E

What does International Trade mean ? 2
5. @@ mIf=H 959 9959 & ¢

What do you mean by ‘Green Revolution’ ? 2

6. = fEwr<T TE 49 7 321 5y g 1 e 35 7

Who was Swami Vivekanand ? Which institute did he establish ? 2

7. Tl § wHEE 1 fesy 21 9itns e
%

Write two consequences of Victory of Fascism in Italy. 2

8. 'wouE STuR] F Huwn' | 5= aed § 7

Explain the 'Right of Constitutional Remedies’. 2
9. EvgFal F | a@ e |

Write three elements of Wants. 2
10. 1% =1 % 9 S9H 3 2o eqn Fa 7
Mention the event that compelled Japan for surrender. 2
11, =HE = 29”9 320 51 S0 S|

Classify the industries on the basis of Ownership 3
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12, e ST A T aed © 7
What do you mean by Dependent Population ? 3
13, TeeEE F1 TU9A1 & 3594 (ai@d |

Write the reasons for the establishment of League of Nations. 3

14, Trawo o8 Fe e s I e /

How does an Ordinary Bill become a law ? 3

15, Hoq-F=rE #1579 T ¢

What problems do minorities face ? 3

16. ‘o zEe’ =1 g W feoh f@aEn)
Comment on the incident of Pearl Harbour. 3
17. YyAr T § T SE 7
What do you mean by Question Hour ?
FHaar
(On)

Y

How does the Parliament control the Executive ?
18. 4fm = 7&=A favwad fEfeT |
Write the main characteristics of Land.
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W i

19.

20.

gl

22.

23.

(5 )

HEr
(Or)

aret =1 fagmaE () fafEn)
Write the characteristics of the Entrepreneur. 3
e TemTed =1 eata 4 g 9l 7
How were the Great Himalayas originated ? 4
T8 F1 WA FETTE] 1 T SR ) e w6 7
Why is Agriculture called the mainstay of Indian Economy ? 4
fafrgr anfd= <ifa =1 YRGE ST 9 391 9919 1357/
What was the impact of British Economic Policy on Indian
Industries ? 4
Which event has been considered as the beginning of the Second
World War ? 4

HE H 29T T T 0 % fog s 5 = a7

What did British do to establish their empire in Bengal 7

Agar

(on
Why is Raja Ram Mohan Roy called the ‘father’ of Indian
Renaissance ? 4
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24, TR 4 TeiaE Te %] 9EeE fAtEn
What is the importance of political parties in democracy ?
AT
(Or)
o= FC ' dare, eEE & em g e

Explain the statement, “Regionalism is an obstacle on the path of
Nationalism.” 4

25. 3= T4l et wREeE =1 5Ea fafan |

What is the importance of Indira Gandhi Canal Project ? 5
26. THvie = yyE fagrm s £ 7

What are the main principles of Panchsheel ? 5
27. WA % T2 T Hrarwn wEtes § Sefatey 57 wvies -

(i) == %1 ==

(i) ArefriT v=g

(iii) wETET

(iv) Taer=T =Te

(V) 9 =1 7&ege

Show the following in the given outline map of India :

(i) Gulf of Kachchh

(i) Nilgiri Mountain

(iii) River Mahanadi

(iv) Chilka Lake

(v) Thar Desert
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(7))

Hadr
(Or)

9Nd & €9 79 Fueen geted § etatea =) e

(i) === =1 =E!

(i) AEER T2

(iii) =AM F1 9er

(iv) 3= 7iedt =7ee

(v) et 751

Show the following in the given outline map of India :

(i) Guif of Khambhat

(i) Malabar Coast

(iif) Chota Nagpur Plateau

(iv) Indira Gandhi Canal

(v) Narmada River 5

28. T74°H | =1 aed ¥ 7 39S Heeyy se9d fatan

What do you mean by Planning ? What are its main objectives ?
AgET
(On)

IS YHEEIS TS 1 g T Fn g0 @eT Tt

Write the aim of Eighth Five-year Plan, explaining its perspective. 5
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29. ‘= W ' T AN Y UEE w=eE § TEE 7 98 o= 8 9%
HFA @ 7
The slogan of ‘Do or Die’is related to which National Movement ?
How far this movement succeeded ?
erar
(Or)
Wt | AT S % Sed § S g e v anfds i Ry uEn
ITETET o ?
How was Ecoromic harassment, done by the Britishers, responsible
for the National awakening in India ? 5]
30. HEEER TH TS S16, A4 1 g S |
Compare Evergreen forests and Deciduous forests.
e
(Or)
TSTetTT ® FIcTTal 1 9T A9 59 21 2, 757 7
Shillong recieves more rainfall than Kolkata, why ? 6

K-4040-A2

M-19



e

Total No. of Questions : 30]
[ . [Total No. of Printed Pages : 8 + Map of India

K-4040-B2
AT TasAT=

Social Science
(Hindi & English Version)

Time : 3 Hours Maximum Marks : 100
Feer - (i) = g9 wfEE B
(i) 59 FHiF 1 5 10 95 Te% W95 1 S0 o7 30 TI=i | Sifoy |
(i) %97 FaF 11 9 18 9% T=5% 999 F1 39 AT 50 U=l A

Hisid
(iv) 999 F91F 19 § 24 7% T 999 1 39 o091 75 T8 H
Higdl
| (v) W59 FHS 25, 26 TS 28 § UoIT U9 &1 I o0799 120 I H
T |
(vi) W9 THE 29 TF 30 H UE YT T IW GI9T 150 TRl
Sif=y |
(vii) w¥7 = 27 F1 TR §3 T FEUER YR % W-gEtee W

TYIEE | AETEE - & 919 §od 90 |

(viil) wEF wva & o2 wefen siw S99 9egE sifET )

(ix) W3 9% 17, 18,23, 24,27, 28, 29 T35 30 § afr=111% faweq ol
T EI /
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Note : ()
(if)
(iif)

(vii)

(viii)

(ix)

All questions are compulsory.

Answer Q. Nos. 1 to 10 in about 30 words each.
Answer each question from Q. Nos. 11 to 18 in about 50
words.

Answer each question from Q. Nos. 19 to 24 in about 75
words.

Answer each question of Q. Nds, 25, 26 and 28 in about
120 words.

Answer each question of Q. Nos. 29 and 30 in about 150
words.

In Q. No. 27 indicate on the outline map of India as directed.
Attach map with your answer-book.

Marks allotted to each question are menticned against
the question.

Internal options are given in Q. Nos. 17, 18, 23, 24, 27,
28, 29 and 30.

3 wﬁwﬁamﬁﬁf@m

Write the rain oriented problems in India.

M-20

2, SlieRM & @Y fafey |
Give the advantages of Hydroelectricity.
K-4040-B2



3. wrE H Hw T G I % AW e
Name the industries which are based on agriculture in India. 2
4. YRGE H F=d 9 ¥ Had fared |

Write the importance of Kuchcha (unmetalled) roads in India. 2

5. = 998 €9 B FEE §, Tl 7

“Sugarcane is a cash crop”, why ? 2
6. eHHel U mHaH qared & gr-gf 9= e

Write the names of two of the leaders from each extremists and

moderates. 2]

7. o TR % waE I § T et

Write the names of the main organs of United Nations

Organisation. 2
8. ‘wEHE AiEaaE T F 379 T FH9d |

Explain the term ‘Sovereign democratic republic’. 2
9. ‘sEvEsATd SmfcaF Tl o | TR HS

“Wants are optional.” Explain. 2

10. ==& § wEERE § 368 5 SR faad |

Write the causes of the rise of Fascism in Italy. 2
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1. T9=: | g5t a5 3um 3 fowiag 29 & = fafag

Write reasons for the development of Cotton Textile Industry in

Mumbai.
12. swe Toufas fF wwd & 7

What is population pyramid ?
13. wom fovegs =1 fava ™ ve3 ot wuE 5t ===y i)

What was the impact of First World War on the world ?
14. 79 sAfaer Jor-9 F s ey § 7

What are the benefits of human rights declaration ?
15. FHEMERE %1 9591\ w39 % 3919 fefan |

Give measures to eradicate the evil of communalism.
16. woH favags 4 safts # s g2n 7

Why did America (U.S.A.) participate in First World War ?
17. ¥R e 1 Hec ¥ S0 |

Explain the importance of Question Hour.

Fgar
(On)

w2l % uE % foe fReifia draas = ¥ 2

Give the qualifications required for the post of the President.
K-4040-B2
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18.

12,

20

21.

22.

23.

49 =1 "o ™En |
Give the importance of Labour.
g
(Orn)
Give the characteristics of Capital. 3
Explain briefly the formation of plains in Northern India. 4

I A1 HIET Al 3l YT 9HE % qiet 6] Fe 9 e 2 "9 |
Why are multipurpose river valley projects called the temple of

modern India ? Explain. 4
Explain the role of Arya Samaj in Renaissance. 4

fova &y wafg =37 § =89 % 71 T 53T 7

Why did League of Nations failed to establish peace among the
nations of the world ? 4
FETHE % T9%g 209 FHE 51 9%ad = = SR 9 2

What were the reasons of success of the English companies
against those of French ?

AT

(On)
WG 3faerd | wel SR 55 & 95 51 39 98 € 7

What is the importance of the batile of Plassey and the battle of
Buxer in the Indian history ? 4

K—4040-B2 Turn Over

M-20



24, &FEE F1 996 4 T92H & 39F Taia |
Give measures to eradicate the evil of regionalism.

Hear
(On)
‘eI was ® H7 4 wEg 9s! are g1 gEeEd |
“Communalism is a big obstacle on the path of democracy.”
Explain. 4
25. Hel $TWEA 51 & 7 39T g fara |
What is Soil Erosion ? Give its harmful consequences. 5
26. T2-FaY T=e F 98 Faed |
Write the importance of Non-Alignment Movement. 5
27. 58 3 yre F Humn gefes 1 Feteten = gvie
(i) wer ==

(i) Toear=m 9=a g

(iii) == =1 @rE

(iv) BT AT =1 981

(V) \mEeT 9TE =514 |

Show the following on the given outline map of India :
(i) River Narmada

(ii) Vindhyachal Mountain Ranges

(iii) Gulf of Kachchh

(iv) Chota Nagpur Plateau

(v) Bhakra Nangal Dam
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28.

eraT
(o

f&# 7 YRT & "R e § FEfEtE w5y

(i) feorefers Sifoma

(i) S Soes &

(iii) Tt ==

(iv) et

(v) =9 SIS &7 |
Show the following on the given outline map of India :
(i) Shivalik Ranges
(i) Jute Producing Areas
(iii) River Tapti
(iv) Delhi
(v) Tea Producing Areas. 5
TEE 3§ giE Ty uTe S9E fEre |
Give five measures to increase the National Income.
AT
(Or)
" o7l Towe & Tau U9edig 39 90aF £ 1 39 S99 1 i ifeu |
Justify the statement, “Five-year plans are helpful in economic
development” 5
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( 8 )
29. STHEAN <A % 31 9oy g ?

What were the consequences of Non-cooperation Movement ?
T
(On)
TG H T =01 F T #4495 98 F 59 9EE w7
What was the contribution of press in the National Awakening in
India ?
30. 9iA H Feafa =1 fafgym % = fafas)
Give reasons for the variety of vegetation in India.
Tgar
(Or)
Sftr-gfy=m Jer =1 30fe $ o e

Give causes for the origin of South-Western Monsoon.
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K-4040-C2
wTTes fasm

Social Science
(Hindi & English Version)

Time : 3 Hours Maximum Marks : 100
ey~ (i) = wys e T

(i) ¥eTFm= 15 10 75 TF W99 F1 30 o0 30 = H w10

(i) o FHE 11 § 18 7% WAF ¥ FH IR 99T 50 V=i H

T |

(iv) w39 FH% 19 F 24 7% T9% ¥¥1 F I AW 75 =l H
EITaT |

(V) 93 S 25, 26 TS 28 F Feis g9 F1 IO I 120 VE 4
=S

(Vi) w9 wHE 29 TH 30 H WOF A T SO0 @O 150 vl H
HiEpr

(vii) w¥H FHF 27 F1 3R 23 1@ Evaan 9w & E-aEEE W
(vill) TEF wve = o i oF w8 T i 2
(ix) Wo == 17,18,23,24,27,28,29 75 30 & 41 (g%ed fod
™
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(vi)

(vii)

(viii)

(ix)

All questions are compulsory.

Answer Q. Nos. 1 to 10 in about 30 words each.
Answer each question from Q. Nos. 11 to 18 in about 50
words.

Answer each guestion from Q. Nos. 19 to 24 in about 75
words.

Answer each guestion of Q. Nos. 25, 26 and 28 in about
120 words,

Answer each question of Q. Nos. 29 and 30 in about
150 words.

In Q. No. 27 indicate on the outline map of India as directed.
Attach the map with your answer-book.

Marks allotted to each gquestion are mentioned against
the question.

Internal options are given in Q. Nos. 17, 18, 23, 24, 27,
28, 29 and 30.

1. e Tewe =) sofv 8 5 49172

How were the Great Himalayas originated ?

K-4040-C2
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(3)

2. WG o= =1 grawsi #1 evawa =5 § 2
Why are irrigation facilities necessary in India ? 2
3. wER M Fa FHed & ?

What are Cottage Industries ? 2

4, IO @ TR I T awE T ?

Explain the terms Import and Export. 2
5. T2 = wem % wuw fafemn

Write the causes of Soil Erosion. 2
6. 1929 % W % TER AEYA & FE Ty = WA e T 7

Which important proposal was passed in 1929 in Lahore Session

of Congress ? 2
7. & UNNE F % faten |

What are the functions of Security Council ? 2

8. ¥ wE afusats 51 Ho=m © afasy 5 g95==T |
Explain the right of freedom to speech and expression, 2
9. = Fifw ' srEvEwad T B B

Explain the statement ‘Necessities are supplementary. 2
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10. sedil 4 wHeE #1 faem & ity fafan

Write the consequences of Victory of Fascism in Italy. 2

1. YRa 4 9927 33 F oY fafEn

Write the advantages of Tourism Industry in India. 3
12. "' SHEE 391 1 geeayy 999A B S e

"Populaticn is an important resource of the country.” Explain. 3
13. it fovegs & = anfy= wftons g0 2

What were the economic consequences of Second World War ? 3
14. w=vfa 15 = fau Mt drgamd =21 £ 7

What are the required qualifications for the post of the President ? 3

15. YSia= H TSATa% 51 =71 Hed aared |
Explain the role of Political Parties in Democracy. 3
16. =@/@ =t =\ =1 v vid 527 of 7
What were the main clauses of the treaty of Varsailles ? 3
17. T 91 F1 A S T EE E 2
How is Rajya Sabha formed ?
Hgdar
(Or)

T FTeT ] Toeg T FHI0 |

Explain the importance of Question Hour. 3

K—-4040-C2
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18.

19,

20.

21.

22.

23.

( 5)

How do Savings Banks help us ?
339
(Or)

F514 &% T HE U HIAC |

Explain the functions of Central Bank. 3

I T UF S8 9RA FT AG3 F1 g S|
Compare the rivers of Northern India and Southern India. 4
I T TN ﬂa ﬁq—q:_:-:[;_ T HJINE F qei-il ] ﬁ-ﬂx”,l

Distinguish between Traditional and Non-traditional sources of
Energy. 4

TS AR U9 1 SRAE TR S S i Fel 9 © 2 HHeEd |
Why is Raja Ram Mohan Roy called the ‘father of Indian
renaissance ? Explain. 4

HI TSEEE F SevAl F F9H R0

Explain the aims of United Nations Organisation. 4
fafey snfeles <ifq =1 YRaE ST 9 F2 94919 937 7

What was the impact of British Economic Policy on the Indian
Industries ?

Hgar
(On)
SIS A HE H A I Fg S F
How did Britishers establish their empire in Bengal ? 4
K—4040-C2 Turn Over
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24, wira= 1 T99ef 591 =1 gfs == Fifwu)
Explain the role of opposition in Democracy.
Hgar
(Or)
e Hifay & e smfes S0 =1 el w2 21
“Education is an essential element of Social Creation.” Explain. 4
25. Ff il YRAE Hd=g=w 1 57 YR ) Fa 969 7 2
Why is agriculture considered as the foundation of Indian
Economy ? B
26. THY] i = qE Sta & e Een =6 5 o g 2
Why is Atomic power considered ‘a danger’ to the mankind ? 9
27. T % g3 T SR aetes § FeteiEe S 59
(i) =R ay
(if) =t ==
(iii) 7R =1 =Ty
(
(v

iv) =i
) TS mt
Show the following on the given outline map of India :
(i) Hirakud Dam
(i) River Cauveri
(iii) Gulf of Mannar
(iv) Konkan Coast
(v) Satpura Ranges.
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gar
(On)
O & fed T S getes | fAmteitaa w evieg
(i) feeet
(ii) Toe= |
(iii) TN <1 WBR
(iv) wreT=TE &
(v) ewree o |

Show the following on the given outline map of India :

(i) Delhi

(ii) Chilka Lake

(iii) Malwa Plateau

(iv) Palghat Pass

(v) Aravalli Mountain. 5
D8, ToETa A T AE T 7 ARG | SN (A =1 ATl e |

What do you understand by Five-year Plans ? What is the

importance of Economic Planning in India ?

srerar
(Or)
sl fadem = ST Sevd Taian |
Describe the lona-term objectives of Economic Planning. 5
K—4040-C2 Turn Over
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29, WA Wa=al HaH H Fars U= A F1 THH1 F F04 FI90 |
Describe the role of Netaji Subhash Chandra Bose in the Indian

struggle for Independence.
AT

(On)
TR 2T IR ° TR F 359 F 0 fEE |

Describe the reasons for the rise of violence in the Indian National

Movement.

30. =fao-afy=si AT &1 3090 7 39 A0 §
What is the reason of the origin of South-Western Monsoon ?
Hgdr
(On)
YA § I8 9H o6 941 % WER (w599 J T5HH Ues 51 99F Hiag |

Name the types of Forests found in India and explain any one of
6

them.
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